
Answer on Question #51653 – Math, Matrix – Tensor Analysis

Question. Evaluate the following:1 2 3
4 5 6
7 8 9

 ·

7 4
6 4
5 3


Solution. 1 2 3

4 5 6
7 8 9

 ·

7 4
6 4
5 3

 =

1 · 7 + 2 · 6 + 3 · 5 1 · 4 + 2 · 4 + 3 · 3
4 · 7 + 5 · 6 + 6 · 5 4 · 4 + 5 · 4 + 6 · 3
7 · 7 + 8 · 6 + 9 · 5 7 · 4 + 8 · 4 + 9 · 3


=

 7 + 12 + 15 4 + 8 + 9
28 + 30 + 30 16 + 20 + 18
49 + 48 + 45 28 + 32 + 27


=

 34 21
88 54
142 87


Answer. 1 2 3

4 5 6
7 8 9

 ·

7 4
6 4
5 3

 =

 34 21
88 54
142 87



OTK
Typewritten Text
www.AssignmentExpert.com




